

Los Angeles County Public Works Project Management Division III BID SUMMARY (sorted by Unit Price Total)

Project Name: Castaic Road at Ridge Route Road and The Old Road at Parker Rd

Project ID: TDS0001703

Bids Opened: 12/6/2022

Bids Opened: 12/6/2022 Project Manager: Amr Mabrouk 626-300-4775

				Engine	eer's Estimate	(1) Access Pacific, Inc. (2) Elecnor Belco Electric			Electric, Inc.	(3) Come	t Electric, Inc.		
(1) Preliminary Bid Amount					\$	1,905,532.91	\$	31,951,442.00	\$	2,204,811.00			
(2) Un	it Price Detail												
<u>Ìtem</u>	<u>Description</u>	<u>Qty</u>	Unit Price	<u>Unit</u>	<u>Amount</u>	Unit Price	<u>Amount</u>	Unit Price	<u>Amount</u>	Unit Price	<u>Amount</u>	Unit Price	<u>Amount</u>
1	CONSTRUCTION SCHEDULE (BASELINE) (STIPULATED UNIT PRICE OF \$2,500)	1	\$2,500.00	LS	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00		
2	CONSTRUCTION SCHEDULE (UPDATE) (STIPULATED UNIT PRICE OF \$500/MONTH)	2			\$1,000.00	\$500.00	\$1,000.00	\$500.00	\$1,000.00	\$500.00	\$1,000.00		
3	CONSTRUCTION SCHEDULE (AS-BUILT) (STIPULATED UNIT PRICE OF \$1,000)	1	\$1,000.00	LS	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00		
4	IMPLEMENTATION OF THE LTWHP	1	\$30,000.00	LS	\$30,000.00	\$30,274.56	\$30,274.56	\$5,000.00	\$5,000.00	\$2,449.00	\$2,449.00		_
5	IMPLEMENTATION OF BMPS	1	\$19,650.00	LS	\$19,650.00	\$30,274.56	\$30,274.56	\$5,000.00	\$5,000.00	\$3,061.00	\$3,061.00		
6	MOBILIZATION	1	\$85,100.00	LS	\$85,100.00	\$30,274.56	\$30,274.56	\$200,000.00	\$200,000.00	\$132,341.00	\$132,341.00		
7	CONCRETE REMOVAL (NON- REINFORCED)	3	\$200.00	CY	\$600.00	\$454.12	\$1,362.36	\$1,400.00	\$4,200.00	\$7,340.00	\$22,020.00		
8	COLD MILL AC PAVEMENT (> 1-1/2 - 3")	1107	\$0.85	SF	\$940.95	\$4.54	\$5,025.78	\$4.00	\$4,428.00	\$23.00	\$25,461.00		_
9	UNCLASSIFIED EXCAVATION	584	\$30.00	CY	\$17,520.00	\$136.24	\$79,564.16	\$75.00	\$43,800.00	\$214.00	\$124,976.00		
10	CRUSHED MISCELLANEOUS BASE	374	\$170.00	CY	\$63,580.00	\$227.06	\$84,920.44	\$162.00	\$60,588.00	\$221.00	\$82,654.00		
11	AC CURB, TYPE D1-6	31	\$40.00	LF	\$1,240.00	\$52.98	\$1,642.38	\$30.00	\$930.00	\$276.00	\$8,556.00		
12	AC CURB, TYPE D1-8	64	\$46.50	LF	\$2,976.00	\$60.55	\$3,875.20	\$30.00	\$1,920.00	\$260.00	\$16,640.00		
13	AC PAVEMENT	343	\$265.00	TON	\$90,895.00	\$181.65	\$62,305.95	\$395.00	\$135,485.00	\$387.00	\$132,741.00		
14	AC PAVEMENT(PATCH BACK)	14	\$265.00	TON	\$3,710.00	\$378.43	\$5,298.02	\$685.00	\$9,590.00	\$523.00	\$7,322.00		
15	CONCRETE BUS PAD	19	\$1,007.00	CY	\$19,133.00	\$1,210.98	\$23,008.62	\$1,400.00	\$26,600.00	\$1,381.00	\$26,239.00		

Project ID: TDS0001703
Bids Opened: 12/6/2022

Bids Opened: 12/6/2022 Project Manager: Amr Mabrouk 626-300-4775

(4) D. II. i. D. I. 4			Engine	er's Estimate	(1) Access Pacific, Inc. (2) Elecnor Belco Electric,				` '	Electric, Inc.			
(1) Preliminary Bid Amount				\$	1,905,532.91	\$	1,951,442.00	\$	2,204,811.00				
	it Price Detail	04.	Limit Daine	1.1	A a 4	Unit Daise	A	Unit Dries	A	Hait Daine	A a	Hait Daise	A
<u>ltem</u>	<u>Description</u>	•	Unit Price	<u>Unit</u>	Amount	Unit Price	Amount	Unit Price	Amount	Unit Price	Amount	<u>Unit Price</u>	<u>Amount</u>
16	PCC CURB & GUTTER, TYPE A2-6	61	\$60.00	LF	\$3,660.00	\$83.26	\$5,078.86	\$115.00	\$7,015.00	\$276.00	\$16,836.00		
17	PCC CURB & GUTTER, TYPE A2-8	449	\$62.00	LF	\$27,838.00	\$83.26	\$37,383.74	\$115.00	\$51,635.00	\$141.00	\$63,309.00		
18	PCC WALK & DRIVEWAYS, 4" THICK	2359	\$16.00	SF	\$37,744.00	\$18.16	\$42,839.44	\$25.00	\$58,975.00	\$37.00	\$87,283.00		_
19	PCC CURB RAMPS	29	\$1,124.00	CY	\$32,596.00	\$1,362.36	\$39,508.44	\$1,400.00	\$40,600.00	\$2,510.00	\$72,790.00		
20	DETECTABLE WARNING SURFACE	63	\$93.00	SF	\$5,859.00	\$75.69	\$4,768.47	\$90.00	\$5,670.00	\$120.00	\$7,560.00		
21	RELOCATE EXISTING BUS SHELTER	1	\$3,100.00	EA	\$3,100.00	\$7,568.64	\$7,568.64	\$7,000.00	\$7,000.00	\$11,228.00	\$11,228.00		
22	RELOCATE EXISTING	1	\$775.00	EA	\$775.00	\$756.86	\$756.86	\$2,200.00	\$2,200.00	\$430.00	\$430.00		-
	MAILBOX												
23	RELOCATE TRASH RECEPTACLE	1	\$775.00	EA	\$775.00	\$756.86	\$756.86	\$2,200.00	\$2,200.00	\$1,327.00	\$1,327.00		_
24	REMOVE SLIDING GATE	34	\$105.00	LF	\$3,570.00	\$45.41	\$1,543.94	\$85.00	\$2,890.00	\$538.00	\$18,292.00		
25	REMOVE CHAIN LINK FENCE 5' HIGH WITH BARBED WIRE	24	\$105.00	LF	\$2,520.00	\$45.41	\$1,089.84	\$85.00	\$2,040.00	\$538.00	\$12,912.00		
26	CHAIN LINK FENCE, 6' HIGH	46	\$93.00	LF	\$4,278.00	\$151.37	\$6,963.02	\$400.00	\$18,400.00	\$352.00	\$16,192.00		.
27	34' CHAIN LINK SLIDING GATE	1	\$4,247.00	EA	\$4,247.00	\$15,137.28	\$15,137.28	\$11,000.00	\$11,000.00	\$15,619.00	\$15,619.00		
28	HEAVY DUTY COMMERCIAL SLIDE GATE OPENER (1 HP MINIMUM, RATED FOR GATES	1	\$29,256.00	EA	\$29,256.00	\$6,811.78	\$6,811.78	\$110,000.00	\$110,000.00	\$6,391.00	\$6,391.00		
	UP TO 50 FT IN LENGTH AND 1500 POUNDS), BATTERY BACKUP, GATE SAFETY												
	SENSORS, 2 KEY PADS, 20 REMOTE CONTROLLERS.												
29	GRADE BEAM WITH 2" V- TRACK AND J-BOLTS	68	\$210.00	LF	\$14,280.00	\$75.69	\$5,146.92	\$300.00	\$20,400.00	\$341.00	\$23,188.00		
30	5' PEDESTRIAN WALK GATE DOOR/ACCESS WITH KEYPAD LOCK	1	\$1,500.00	EA	\$1,500.00	\$11,352.96	\$11,352.96	\$15,000.00	\$15,000.00	\$15,619.00	\$15,619.00		
31	KEY PAD STATION WITH GOOSE NECK POST	2	\$1,500.00	EA	\$3,000.00	\$5,298.05	\$10,596.10	\$5,000.00	\$10,000.00	\$1,143.00	\$2,286.00		

Project ID: TDS0001703

Bids Opened: 12/6/2022 Project Manager: Amr Mabrouk 626-300-4775

				Engine	er's Estimate	(1) Acces	s Pacific, Inc.	(2) Elecnor Belco	Electric, Inc.	(3) Come	t Electric, Inc.		
(1) Preliminary Bid Amount				\$	1,905,532.91	\$	1,951,442.00	\$	2,204,811.00				
(2) Un	t Price Detail												
<u>Item</u>	<u>Description</u>	<u>Qty</u>	Unit Price	<u>Unit</u>	<u>Amount</u>	Unit Price	<u>Amount</u>	Unit Price	<u>Amount</u>	Unit Price	<u>Amount</u>	Unit Price	<u>Amount</u>
32	GOOSE NECK POST	2	\$1,730.00	EA	\$3,460.00	\$756.87	\$1,513.74	\$5,000.00	\$10,000.00	\$205.00	\$410.00		
	FOUNDATION												
33	REMOVE STREET LIGHT POLE AND FOUNDATION	10	\$4,650.00	EA	\$46,500.00	\$1,967.85	\$19,678.50	\$3,000.00	\$30,000.00	\$2,628.00	\$26,280.00		_
34	INSTALL TYPE 332 CABINET	2	\$4,260.00	EA	\$8,520.00	\$56,764.80	\$113,529.60	\$55,000.00	\$110,000.00	\$39,489.00	\$78,978.00		
	COMPLETE W/ 2070	_	, ,	_, 、	, , , , , , , , , , , , , , , , , , , ,	, ,	, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	, ,	, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	, ,	, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,		
	CONTROLLER												
35	TYPE 332 CABINET	2	\$3,875.00	EA	\$7,750.00	\$5,298.05	\$10,596.10	\$4,000.00	\$8,000.00	\$4,557.00	\$9,114.00		
	FOUNDATION												
36	INSTALL TYPE III-BF SERVICE	2	\$1,745.00	EA	\$3,490.00	\$8,625.22	\$17,250.44	\$11,000.00	\$22,000.00	\$10,269.00	\$20,538.00		<u> </u>
	CABINET												
37	TYPE III-B SERVICE CABINET	2	\$3,395.00	EA	\$6,790.00	\$4,238.44	\$8,476.88	\$4,000.00	\$8,000.00	\$3,817.00	\$7,634.00		
	FOUNDATION				***		0.100.1==.10	27100000	2122 222 22	450.000.00	21121222		
38	INSTALL 4-CAMERA VIDEO/	2	\$9,690.00	EA	\$19,380.00	\$80,227.59	\$160,455.18	\$54,000.00	\$108,000.00	\$58,096.00	\$116,192.00		
	RADAR DETECTION SYSTEM,												
	RACK MOUNT 17" LCD MONITOR												
39	PEDESTRIAN PUSH BUTTON	2	\$2,550.00	EA	\$5,100.00	\$378.43	\$756.86	\$700.00	\$1,400.00	\$2,312.00	\$4,624.00		
39	POST	2	Ψ2,000.00	LA	ψο, 100.00	φονοτο	Ψ7 00.00	Ψ7 00.00	Ψ1,400.00	Ψ2,012.00	ψ4,024.00		
40	INSTALL TYPE 15TS	8	\$2,828.00	EA	\$22,624.00	\$2,270.59	\$18,164.72	\$2,500.00	\$20,000.00	\$6,242.00	\$49,936.00		
10	STANDARD	J	. ,	_, 、	, ,			, ,	, ,	, ,	, ,		
41	INSTALL TYPE 24 STANDARD	2	\$4,070.00	EA	\$8,140.00	\$3,784.32	\$7,568.64	\$2,500.00	\$5,000.00	\$17,392.00	\$34,784.00		
42	INSTALL TYPE 26 STANDARD	2	\$4,070.00	EA	\$8,140.00	\$4,541.19	\$9,082.38	\$3,000.00	\$6,000.00	\$18,826.00	\$37,652.00		_
43	INSTALL TYPE 29 STANDARD	4	\$4,070.00	EA	\$16,280.00	\$4,541.19	\$18,164.76	\$3,000.00	\$12,000.00	\$28,001.00	\$112,004.00		
44	PEDESTRIAN PUSH BUTTON	2	\$1,730.00	EA	\$3,460.00	\$1,513.73	\$3,027.46	\$1,500.00	\$3,000.00	\$3,293.00	\$6,586.00		
	POST FOUNDATION												
45	TYPE 15 STANDARD	8	\$4,070.00	EA	\$32,560.00	\$9,082.37	\$72,658.96	\$4,500.00	\$36,000.00	\$2,850.00	\$22,800.00		_
	FOUNDATION												
46	TYPE 24 STANDARD	2	\$8,045.00	EA	\$16,090.00	\$13,623.55	\$27,247.10	\$6,500.00	\$13,000.00	\$6,832.00	\$13,664.00		
	FOUNDATION												_
47	TYPE 26 STANDARD	2	\$8,820.00	EA	\$17,640.00	\$16,651.01	\$33,302.02	\$6,500.00	\$13,000.00	\$5,301.00	\$10,602.00		
- 15	FOUNDATION		#40 400 CC		# 44.040.00	040.054.04	#00 004 04	# 7 000 00	#00.000.00	#7.070.00	000 704 00		
48	TYPE 29 STANDARD	4	\$10,460.00	EA	\$41,840.00	\$16,651.01	\$66,604.04	\$7,000.00	\$28,000.00	\$7,676.00	\$30,704.00		
	FOUNDATION												

Project ID: TDS0001703

Bids Opened: 12/6/2022 Project Manager: Amr Mabrouk 626-300-4775

(4) D. H. J. D. D. A. J.			Engine	eer's Estimate	` '		(2) Elecnor Belco Electric, Inc.		(3) Comet Electric, Inc.				
(1) Preliminary Bid Amount				\$	1,905,532.91	\$	1,951,442.00	\$	2,204,811.00				
. ,	it Price Detail												
<u>Item</u>	<u>Description</u>	<u>Qty</u>	<u>Unit Price</u>	<u>Unit</u>	<u>Amount</u>	Unit Price	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	Unit Price	<u>Amount</u>
49	INSTALL 30' SIGNAL MAST ARM	2	\$1,355.00	EA	\$2,710.00	\$2,270.59	\$4,541.18	\$900.00	\$1,800.00	\$6,444.00	\$12,888.00		
50	INSTALL 35' SIGNAL MAST ARM	2	\$1,730.00	EA	\$3,460.00	\$2,573.34	\$5,146.68	\$900.00	\$1,800.00	\$6,833.00	\$13,666.00		
51	INSTALL 45' SIGNAL MAST ARM	4	\$2,325.00	EA	\$9,300.00	\$3,027.46	\$12,109.84	\$900.00	\$3,600.00	\$7,199.00	\$28,796.00		_
52	INSTALL 12' LUMINAIRE MAST ARM	15	\$1,460.00	EA	\$21,900.00	\$378.43	\$5,676.45	\$900.00	\$13,500.00	\$1,687.00	\$25,305.00		
53	INSTALL 15' LUMINAIRE MAST ARM	1	\$1,460.00	EA	\$1,460.00	\$529.80	\$529.80	\$900.00	\$900.00	\$4,401.00	\$4,401.00		
54	INSTALL 8' STRAIGHT ARM CLAMP-ON FOR STREET NAME SIGN	8	\$875.00	EA	\$7,000.00	\$3,248.46	\$25,987.68	\$900.00	\$7,200.00	\$2,385.00	\$19,080.00		
55	150 W EQ LED LUMINAIRE	12	\$1,195.00	EA	\$14,340.00	\$1,309.38	\$15,712.56	\$1,200.00	\$14,400.00	\$1,866.00	\$22,392.00		
56	200 W EQ LED LUMINAIRE	4	\$1,195.00	EA	\$4,780.00	\$1,407.77	\$5,631.08	\$1,500.00	\$6,000.00	\$2,513.00	\$10,052.00		
57	PEDESTRIAN PUSH BUTTON	16	\$680.00	EA	\$10,880.00	\$484.39	\$7,750.24	\$400.00	\$6,400.00	\$411.00	\$6,576.00		_
58	PEDESTRIAN PUSH BUTTON PLATE	16	\$200.00	EA	\$3,200.00	\$52.98	\$847.68	\$220.00	\$3,520.00	\$244.00	\$3,904.00		_
59	LED COUNTDOWN PEDESTRIAN HEAD (COMPLETE)	8	\$1,160.00	EA	\$9,280.00	\$2,193.39	\$17,547.12	\$1,300.00	\$10,400.00	\$1,362.00	\$10,896.00		
60	LED COUNTDOWN PEDESTRIAN HEAD (COMPLETE)	8	\$1,160.00	EA	\$9,280.00	\$2,193.39	\$17,547.12	\$1,300.00	\$10,400.00	\$1,362.00	\$10,896.00		
61	DOUBLE FACE RETROREFLECTIVE STREET NAME SIGN	8	\$2,990.00	EA	\$23,920.00	\$2,686.87	\$21,494.96	\$1,300.00	\$10,400.00	\$2,405.00	\$19,240.00		
62	3-12" LED VEHICLE HEAD (COMPLETE)	21	\$2,070.00	EA	\$43,470.00	\$1,612.12	\$33,854.52	\$1,300.00	\$27,300.00	\$1,159.00	\$24,339.00		
63	5-12" LED VÉHICLE HEAD (COMPLETE)	16	\$2,860.00	EA	\$45,760.00	\$1,884.59	\$30,153.44	\$1,800.00	\$28,800.00	\$1,931.00	\$30,896.00		
64	1" CONDUIT (GRC)	220	\$39.00	LF	\$8,580.00	\$105.96	\$23,311.20	\$115.00	\$25,300.00	\$83.00	\$18,260.00		
65	2" CONDUIT (GRC)	220	\$51.00	LF	\$11,220.00	\$121.10	\$26,642.00	\$130.00	\$28,600.00	\$105.00	\$23,100.00		
66	1" CONDUIT (SCH 80 PVC)	100	\$39.00	LF	\$3,900.00	\$121.10	\$12,110.00	\$120.00	\$12,000.00	\$83.00	\$8,300.00		
67	3" CONDUIT (SCH 80 PVC)	750	\$93.00	LF	\$69,750.00	\$136.24	\$102,180.00	\$150.00	\$112,500.00	\$83.00	\$62,250.00		

Project ID: TDS0001703

Bids Opened: 12/6/2022 Project Manager: Amr Mabrouk 626-300-4775

				Engine	er's Estimate	(1) Access Pacific, Inc. (2) Elecnor Belco Electric, In				(3) Comet	Electric, Inc.		
(1) Preliminary Bid Amount				\$	1,905,532.91	\$	1,951,442.00	\$2	2,204,811.00				
(2) Un	it Price Detail												
<u>Item</u>	<u>Description</u>	<u>Qty</u>	Unit Price	<u>Unit</u>	<u>Amount</u>	Unit Price	<u>Amount</u>	Unit Price	<u>Amount</u>	Unit Price	<u>Amount</u>	Unit Price	<u>Amount</u>
68	3" ELECTROLIER LIGHTING	120	\$93.00	LF	\$11,160.00	\$136.24	\$16,348.80	\$150.00	\$18,000.00	\$263.00	\$31,560.00		
	CONDUIT												
69	3-CONDUCTOR SIGNAL	2200	\$10.00	LF	\$22,000.00	\$9.08	\$19,976.00	\$5.00	\$11,000.00	\$11.20	\$24,640.00		
	CABLE(EXCLUDING CONDUIT)												
70	5-CONDUCTOR SIGNAL	670	\$12.00	LF	\$8,040.00	\$10.60	\$7,102.00	\$7.00	\$4,690.00	\$17.50	\$11,725.00		
	CABLE(EXCLUDING CONDUIT)		212.22		407.000.00	0.0.1.1	***		0.17.000.00				
71	12-CONDUCTOR SIGNAL	2200	\$16.00	LF	\$35,200.00	\$12.11	\$26,642.00	\$8.00	\$17,600.00	\$12.40	\$27,280.00		
70	CABLE(EXCLUDING CONDUIT)	4500	#0.00		#00 000 00	05.00	#00.050.00	#0.00	040 500 00	#0.00	#0.000.00		
72	#10 WIRE	4500	\$8.00	LF	\$36,000.00	\$5.30 \$4.54	\$23,850.00	\$3.00 \$2.50	\$13,500.00 \$5,000.00	\$2.00 \$3.00	\$9,000.00		
73	#12 WIRE	2000	\$9.00	LF	\$18,000.00		\$9,080.00				\$6,000.00		
74	INSTALL COMPOSITE TYPE 3	18	\$930.00	EA	\$16,740.00	\$1,059.61	\$19,072.98	\$1,400.00	\$25,200.00	\$3,276.00	\$58,968.00		
7.5	PULL BOX INCL COVER INDUCTIVE LOOP DETECTOR	405	\$31.00	LF	\$3,255.00	\$52.98	\$5,562.90	\$60.00	\$6,300.00	\$62.00	\$6,510.00		
75	AND LEADS SAW CUT	105	φ31.00	LF	\$3,233.00	φ32.90	\$5,502.90	φ00.00	\$6,300.00	φ02.00	\$0,510.00		
76	REMOVE STRIPING AND	2700	\$11.00	SF	\$29,700.00	\$9.75	\$26,325.00	\$8.00	\$21,600.00	\$8.00	\$21,600.00		
70	MARKINGS (THERMOPLASTIC)	2700	Ψ11.00	SF	Ψ20,700.00	ψ0.70	Ψ20,020.00	ψ0.00	Ψ21,000.00	ψ0.00	Ψ21,000.00		
77	DETAIL 8 (THERMOPLASTIC)	4	\$6.00	LF	\$24.00	\$15.14	\$60.56	\$12.00	\$48.00	\$13.00	\$52.00		
78	DETAIL 22 (THERMOPLASTIC)	550	\$12.00	LF	\$6,600.00	\$1.89	\$1,039.50	\$1.50	\$825.00	\$2.00	\$1,100.00		
79	DETAIL 27B	450	\$6.00	LF	\$2,700.00	\$1.67	\$751.50	\$1.40	\$630.00	\$2.00	\$900.00		
. 0	(THERMOPLASTIC)	.00											
80	DETAIL 38 (THERMOPLASTIC)	480	\$6.00	LF	\$2,880.00	\$1.89	\$907.20	\$1.50	\$720.00	\$2.00	\$960.00		
81	DETAIL 41 (THERMOPLASTIC)	160	\$6.00	LF	\$960.00	\$1.36	\$217.60	\$1.20	\$192.00	\$2.00	\$320.00		_
82	8" STRIPING	250	\$6.00	LF	\$1,500.00	\$1.89	\$472.50	\$1.50	\$375.00	\$2.00	\$500.00		
	(THERMOPLASTIC)												
83	12" STRIPING	340	\$8.00	LF	\$2,720.00	\$4.16	\$1,414.40	\$3.40	\$1,156.00	\$4.00	\$1,360.00		_
	(THERMOPLASTIC)												
84	24" STRIPING	2100	\$16.00	LF	\$33,600.00	\$6.81	\$14,301.00	\$5.50	\$11,550.00	\$5.50	\$11,550.00		
	(THERMOPLASTIC)												
85	PAVEMENT MARKINGS	600	\$18.00	SF	\$10,800.00	\$9.69	\$5,814.00	\$8.00	\$4,800.00	\$8.00	\$4,800.00		
	(THERMOPLASTIC)												
86	REMOVE SIGN POST	9	\$155.00	EA	\$1,395.00	\$128.67	\$1,158.03	\$100.00	\$900.00	\$105.00	\$945.00		
87	REMOVE SIGN	2	\$235.00	EA	\$470.00	\$60.55	\$121.10	\$50.00	\$100.00	\$49.00	\$98.00		
88	RELOCATE SIGN	10	\$465.00	EA	\$4,650.00	\$136.24	\$1,362.40	\$110.00	\$1,100.00	\$111.00	\$1,110.00		
89	SIGN PANEL	26	\$310.00	EA	\$8,060.00	\$280.04	\$7,281.04	\$215.00	\$5,590.00	\$227.00	\$5,902.00		

Project ID: TDS0001703
Bids Opened: 12/6/2022

Bids Opened: 12/6/2022 Project Manager: Amr Mabrouk 626-300-4775

				Engir	neer's Estimate	(1) Acce	ss Pacific, Inc.	(2) Elecnor Belo	ecnor Belco Electric, Inc. (3) Comet Electric, Inc.				
(1) Preliminary Bid Amount				\$1,905,532.91		\$1,951,442.00		\$2,204,811.00					
(2) Un	it Price Detail												
<u>Item</u>	<u>Description</u>	<u>Qty</u>	Unit Price	<u>Unit</u>	<u>Amount</u>	Unit Price	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	Unit Price	<u>Amount</u>
90	INSTALL SIGN (MAST-ARM HANGER)	13	\$465.00	EA	\$6,045.00	\$378.43	\$4,919.59	\$350.00	\$4,550.00	\$177.00	\$2,301.00		
91	SIGN POST (ROADSIDE SIGN)	14	\$155.00	EA	\$2,170.00	\$317.88	\$4,450.32	\$245.00	\$3,430.00	\$258.00	\$3,612.00		
92	INSTALL SIGN POST	10	\$235.00	EA	\$2,350.00	\$317.88	\$3,178.80	\$245.00	\$2,450.00	\$258.00	\$2,580.00		
93	CURB MARKINGS (TWO-COAT PAINT)	170	\$5.00	LF	\$850.00	\$5.30	\$901.00	\$5.00	\$850.00	\$5.00	\$850.00		_
94	INSTALL SIGN ON POST	13	\$310.00	EA	\$4,030.00	\$245.22	\$3,187.86	\$250.00	\$3,250.00	\$199.00	\$2,587.00		
95	SCE WORK (ALLOWANCE OF \$21,000)	21000	\$1.00	AL	\$21,000.00	\$1.00	\$21,000.00	\$1.00	\$21,000.00	\$1.00	\$21,000.00		
96	EXPLORATORY EXCAVATION OF UTILITIES (ALLOWANCE OF \$18,750)	18750	\$1.00	AL	\$18,750.00	\$1.00	\$18,750.00	\$1.00	\$18,750.00	\$1.00	\$18,750.00		
97	TRANSPORT AGENCY- FURNISHED MATERIALS	1	\$7,750.00	LS	\$7,750.00	\$12,109.82	\$12,109.82	\$35,000.00	\$35,000.00	\$4,285.00	\$4,285.00		
98	TRAFFIC CONTROL	1	\$92,150.00	LS	\$92,150.00	\$121,098.24	\$121,098.24	\$80,000.00	\$80,000.00	\$16,659.00	\$16,659.00		
99	FLASHING ARROW SIGN	2	\$7,500.00	EA	\$15,000.00	\$5,298.05	\$10,596.10	\$3,000.00	\$6,000.00	\$3,673.00	\$7,346.00		
Unit P	rice Total				\$1,513,345.95		\$1,905,532.91		\$1,951,442.00		\$2,204,811.00		
(3) LSBE/DVBE/SE Preference Amount					\$0.00		\$0.00		\$0.00				
(4) LSBE/DVBE/SE Adjusted Amount					\$1,905,532.91		\$1,951,442.00		\$2,204,811.00				
Comments				NON	RESPONSIVE	APPARENT LOW BIDDER							